189 GeV ee */Z (Hadronlc)
—_ [T L DL B L B T ]
2 10 =
(7)) — ]
= — -
&) ~ ]
= 1= =
o - =
46 — p—
" -1 — —
5"./10 = =
o) — -
1072 = =
1073 = =
107 4 =
=Y /m ALEPH =
. [ & -8-- Herwig 7.2.1 default 7
107 =
= *—A— Pythia 8.308 default =
- L...4- Sherpa 2.2.9 default =
108 = --¥-- Vincia 1.1.00_8.176 default —
1an-7 : | | | | | | | | | , | , , | , :
2 & =
T [ ]
o - . ]
m [ _
_I P . V. B = @
< R ) ‘T et 7]
g 1 ‘
o L .
-|C_Ul | ! : —
m — " —
0.5 1 | —
| 1

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


